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Checking Division Answers Name:
Check each answer. Determine if theanswer is'correct' or 'not'. Answers
/ Division problems can be 263 +8=32r7 182+ 6=29r5 \
checked by multiplying the 39 29 1
quotient by the divisor and then 3 6
adding the remainder. X X
256 174 2,
If the answer is the same as the + 7 + 5
& dividend, it is correct. 263 179 |3
4.

1) 279+4=69r3

3) 501+9=55r6

9 160+7=22r4

7) 285+2=71rl

9 877+4=219r2

2) 982+3=327r1

4) 620+6=103r2

6) 236+7=33r5

8 608+3=202r1

10) 922+6=18412

10.
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Checking Division Answers

Name: Answer Key

Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263 +8=32r7 182 +6=29r5 \
checked by multiplying the - 29 1 correct
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2. correct
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 19 % J||s __correct
1) 279+4=69r3 69 2 982+3=32711 327 4. __correct
x 4 x 3 5. not
276 981
+ 3 + 1 6 correct
279 982
7. not
3) 501+9=5516 55 4) 620+6=103r2 103
x 9 x 6 8 not
495 618
501 620 o not
5 160+7=22r4 22 6) 236+7=33r5 33
x 7 x 7
154 231
+ 4 + 5
158 236
7) 285:2=71r1 71 8 608+3=202r1 202
x 2 x 3
142 606
+ 1 + 1
143 607
9 877+4=219r2 219 10) 922+6=184r2 184
x 4 X 6
876 1104
+ 2 + 2
878 1106
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